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AX2TH17183 1:2 FEHORIMEEME  |FE HA EE %05
(8) - 6[TRKKXK2—29—21] W2 TK 730m | ( 60, 200)
SLVETHENR 375,000 137 F=E FRE-REENZVE [FHE 6m |7K3E SEH
HFRT125%344 1:2 B EEE i HR 1EE %R
(8) - 7|[TFFAr12—18) S2 TK 960m | ( 60, 200)
SLWVETHENER 177,000 102 F=E F/NREO—REEDIF (X 4m | K& ElAE]
BrE1TEH112%3 1:1.2 NTIR—rELHLNDIE | HR 2R E #f
(2) - g|l#yis1—40—23] w2 Eithisl Tk 1.8km | ( 60, 200)
SLVETHENR 392,000 161 FEHE [FREE.88v a3y |A 5.5m |/KE SEH
H{PET23 %1 12 |E ENRETHEEME  |hE HA 1EE %05
(8) - 9|l ihET27—10] S3 Tk 350m | ( 60, 200)
SLWVETHENER 465,000 970 RIT FEDESH. TV avE |1tHE 25m|/K & SEH
HEET78% 24 1:1 MBS i 5 th i 858 HA B AR
(8)5- 1|IE=REr25—4] SRC3 BEE |[FK 480m | ( 80, 200)
SVVETHENR 643,000 330 EWHRE |TROEH. BEMEL |® 10.5m 7K SEH
RE7TEO®E 1:3 |#Ar ENRSNEFLED (253 A=z e
(12) 5- 2|TERET7—1—7] RC6 DRt Tk 500m | ( 80, 400)
SLWVETHENER 403,000 239 EEME |PERBOBEMELLE (& 16m|7k5& SEH
{hET4TE13%2 115 |£EREE |VEEAVOEERE |@Ea HA ER]
(8)5- 3|[{hET4—2—22) RC6 Tk 1km | ( 80, 400)
SVWVETHER 1,000,000 84 EHRE |TROEH. EEREL |E 18m|/KE SEH
=E2TH150%54 2.1 |HFR MRS A S i Ei&E HR GE 3071
(8)5- 4|lEmW2—4—3) RC6 7 e Tk 450m | ( 80, 400)
SV -ETHENR 793,000 156 EHEE [DMRECERELHLE |F 5.4m |/K& TER
" HET1 TEO7E1 11 |RMEE [ SEEREE i HR [GE 3071
(8)5- 5|1 —6—1] RC5 Tk 170m | ( 80, 400)
SV -ETHENR 1,170,000 337|FEK |EHEHE [FEEHEILHNEDRE [FE Rk kaE TEM
H{PET70% 194} 11 |PTEBRER |OmEEitiE FhiE HA [GE 33071
(8)5- 6|l H{pHlr1—23] RC5F1B Tk RenkisEEl (80, 400)
SWV-FER [V ERER 125000 115 = INEE—REENEEH R 4.8m|/k&E Fagt]
WAR4TEH361F45 1:1 AMEEhE HiE HR 1B
(8) - 1|lix4—-6-—2) W2 Tk 1.6km | ( 60, 200)
SWV-FETER 315,000] 100 = INEE—RREENEEH R 4.3m|/k&E R A
* BEFR4THS37%2 1:1 SMEEhiE it H = 1R
(8) - 2|[I[EFH4-9-5] W2 Tk 800m | ( 60, 200)
SWVFETER 219,000 115 = —fREFEE. TA—FENE |FFE  55m|KE R A
A4 TES1%245 1:1.2 EY HiEEE HiE HR 1R
(8) - 3|lgaA4—16—14] W2 Tk 1.4km | ( 60, 200)
SWV-FETER 288,000 100 [EE3 FNRBEO—BIEENS |& 5m|7k5& R A
BEFH6TH145%445 1:15 LME HiE HR 1B
(8) - 4llEFR6—22—1) W2 Tk 1.1km | ( 60, 200)
SWV-FETER 138,000 112 = INEE—REEDIEN |F 4.2m k@ SR
AFMAEFFILBZE4ET 1:1.5 TMENARLNLEEM | AR 1thE #[f
(8) -5 w3 B Tk 2.4km | ( 60, 200)
SWV-FETER 295,000] 135 = FUNRBEO—BIEENE |& 6m k& SR
RE2THE936%1 1:15 VREQE-SF-EEME |dE HZ iR
(8) - 6]l[#RE2—-9-6] W2 Tk 1.1km | ( 60, 200)
SW-FETER 235,000] 119 = INEE—REENSVE [ 4.3m|/k&E FEFHE
t2TH1131%14 1:1.2 B AL EEHIE it HR 1R #0H
(8) - 7|li#2—-17-8] W2 Tk 1km | ( 60, 200)
SV -FETER 290,000 178 = —EE. 7HA—FENE [R 6.4m |7k & SR
RE4THE505%9 115 EYSEEE il HZ 20hE #[f
(8) - 8|lRE4—-7—2] W2 Tk 1km | ( 60, 200)
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SLWV-EHER 321,000 429 HEMGFE [-BEE. 23V BEE|LE  53m|KE AN

HiB4THE1152% 1:15 HEMNRET St Gittl H=R #ET

(8) - 9|TBtB4—24—16] S4 TK 600m | ( 60, 300)
SWV-EHER 218,000 99 F=E INRERDOBFEEHLEDS (4t 4m [7KE G
ABHESTH1794%14 115 it SEEH I i HR 2hE

(8) - 10{TKHE5—16—11 LS2 TK 1.3km | ( 60, 200)
SLWVEHER 223,000 100 F=E —REE.EAREE. IS5 [EE  43m [KE dFH
t7TE738%4 1:1 EAESL I SMEEHE HiE HR £T

(&) -11frit7—11-—61 W2 TK 1.2km | ( 60, 200)
SW-ENER 355000 153 JESFRE |EH. ESHAMELNELL |[dkE  16m |KE R
XE2TR1&3 1:1.5 | AE i HiE H R SETS HERS

(8)5- 1|Ix@2—1—3) RC4 TK 360m | ( 80, 200)
SWNFETER 396,000 491|FEfs [[EHFE |EHREFE. TN F |F 16m |/K:&E HEE
B 1 TES5%34) 12 |E BRENBEETIRER |83 HR 1EE

(8)5- 2|lB81-6—27] sS4 L ORI B o | Tk 320m | ( 60, 200)
SWV-EHER 620,000 524 RIT ESHELELNELIAER [T 20m [KE AN

* BiEsTHE1527&64+ 1.5:1 RIDEE I B8 HR [GE PN

(8)5- 3|[THE5—19—22] RC2 mEE flE [Tk 50m | ( 80, 400)

SLVFER SV ETRE 166,000 124 F=E —BEENZRELNEEX [/ 6m [KiE ]
* AMA3TES3%3 1:1 EEBEXORGLEED |ty HR 1E%

(8) - 1 w2 2] Tk 2km | ( 50, 100)
SV EHRE 132,000 157 F=E FRBEO—WEENZL [dLE 6m |7k ]
WASTH37&10 1.5:1 BRI EHhig THiE H=R 11€E%

(8) - 2 LS2 Tk 2.8km | ( 60, 100)
SV EHRE 261,000 178 F=E FIREEENSUVEHG (LA 44m|KkE SEH
AXEZE1TE678%1 1:1.2 EEHhig i HR 1EE %R

(&) - 3|[TKHEE1—-19—7]) RC3F1B TK 1.2km | ( 60, 200)
SV EHRE 156,000] 289 F=E FRBEO—WEENZL [FEHE 6m |7k ]
AEhEFh#2189F 1:2 REEALLI-EEME  |HE HA 1hE

(8) - 4 LS2 Tk 1.3km | ( 60, 200)
SV EHRE 130,000 138 F=E FRBEO—REENES [ 6m |7K& ]
Hi51TE23%7 1:15 WARBEERELEE | HR 1E%

(8) -5 w2 2] Tk 3.5km | ( 50, 100)
SWEEHHRE 156,000 207 HEEFE [EEEENZEESZLR|E 5m /K& JeiE#n
EHEET1TH144% 15 1:1.5 bhBEEME e HR 1hE &

(8) - 6|EEt1—22—12) LS2 TK 2.3km | ( 60, 200)
SWEEHHRE 116,000 156|&8% |F=E FUNREO—REENZ [ 4m | K& JeiE#n
AF=EFAE1426%2 1:1 LMEE i HR T{EE #[h

(8) - 7 W2 Tk 3.2km | ( 50, 100)
SWVEENRE 166,000 159 F=E —BEEQRIZTNA—E|FHEH 6m |7K3E ]
AFHRFREA110%E18 1:15 NEETIRBREFD |hy HZ 22

(8) -8 w2 e Tk 2.6km | ( 60, 200)
SV ETRE 182,000 104 = INEE—fREENEEY |7 5m [7k5& TER

* FRIL4TH252%37 1:1.2 SEEHE FhoE HZ oths

(8) - ollFE4a—23—-12] W2 Tk 2.2km | ( 60, 200)
SV ETRE 223,000 181 FE —REEELIELLESR |F 6m [7KiE ESEE]
BHM7TH22%4 1:1 BEERELIEEME T AR 1thE

(&) -10 W2 Tk 1.1km | ( 60, 200)
SV ETRE 136,000 237 FE —RBEEENELLSR [dE 6m | K& ESEE]
WA2THE5E13 1:2 BEERELIFEME TE HR 1E%

(&) - 11 W2 Tk 2.8km | ( 50, 100)
SV ETRE 141,000 126 FE —REEDODIZT/N—IE|& 4m | K& TEM
RFPEFHAO50%E2 1:1.5 NREohBEEHE iE HA 1EE

(&) -12 W2 Tk 3.2km | ( 50, 100)
SV ETRE 118,000 262 FE —REELEREEED |® 4m [k3E F[3E ]
RF=EFIE2365%2 1:2 RBET S EHIE i 5 185

(&) -13 W1 B Tk 4km | (50, 100)
SV ETRE 214,000 192 [EE3 FUNRE—RREE, £F (B 6m [7ki& THMER
RFTFTHHFAFNS524F45 1:1.5 FEEENMEZOOHIR |REHE HA 1EE %0

(8) - 14| G g —63#iK22) W2 EEEROEEME Tk 350m | ( 60, 200)
SV ETRE 186,000 177 FE —WREEELNBEOREE [F 6m | K& THEMER
XE6TH23%20 1:2 BHE DT EME i HA 1hE [

(&) -15 W2 Tk 1.1km | ( 60, 150)
SV ETRE 239,000 1411 EXEME |EH. EHEMEIELTE (A 27m|/K& THMER
£E6TH8E74 12 |BE ARR IR R HiE HR (TR RS

(8)5- 1 S3 TEE _|FK 1.1km | ( 60, 200)

ShEER (SO ETEBR 99,000 100 FE FUNMEEO—REENS |1t 4m | k& Et
AET2TH2232%26 1:15 LME HiE HR VR %R

(&) - 1|/IAXB[2—8—12—4] W2 Tk 950m | (60, 100)

SV -ETEHRER 111,000] 231 = PIRE—REENZVEE [FE  46m|KiE =W
* AET3TH2771%2 1:2 B AT Btttz e 1B
(8) - 2|TABI3—19—-19] W2 Tk 640m | ( 60, 200)
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SLVETERE 84,400 170 F=E FRBEENZVEHE (B 6m |7K& HEH
BEA4TH7ES 1:15 EEHIE i H= 185

(8) - 3 W2 Tk 1.4km | ( 60, 100)
SLVETERE 74000 202 F=E —BEENZRELNGE [E 6m |7K& EEE
W1 TH451%&24 1.5:1 Eithig i HR 1E%

(&) - 4|IEm1—5—13] W2 TK 1.5km | ( 50, 80)
SVVETERE 81,200 198 F=E FRE-REEENRS [FHE 6m |7K3E EEE
REEWFIN67I1EN 1:2 NEREREROEEH |RE#K HZR 2chE

(8) - 5|GTN448R11A) W2 2] Tk 1.9km | ( 60, 150)
SLV-ETERE 102,000] 221 F=E —BEEDENT/N—F [T 55m|KE A
AHT6 TH148%84 1:2 ENRONSEEHIE i HR 2RE

(&) - 6[TKET6—6—111 W2 TK 1.1km | ( 60, 200)
SWVEETEBRER 30,000 578 F=E —BEELEREENE (/@ 6.9m [7KiE EEE TSR |
AFERFFHR793%E35 1:15 T HEEh T H=R

(B) -7 W2 2.6km | ( 60, 200)
SWVEETEBREX 158,000] 164 F=E FRE-REENZRO[FEE 6m |k ENER
£E®HE2TH33%9 1:15 NEREREFOEEH i@ HR 1R e HERf

(8) - 8 LS2 2] Tk 1.2km | ( 60, 150)
SVV-ETERE 166,000 760 58 EBEHNZRONEX [T 17.5m [KiE EEE
FEET1 TH4595% 1% 1.5:1 EREETHOBEE |G H=z FEERDY

(8)5- 1|CEMERmO23# X3 —141) S2 bR BAE | TFK 250m | ( 80, 400)
SVVETERE 91,000 1,175 58 HEEEEEHLTELSS (1t 20m | /K& EEE
[RET1492%F 14} 1.5:1 LERERE g B H=R 2{EE

(8)5- 2|lFAT6—11 S1 B EE Tk 1.3km | ( 60, 200)
SNEETERR 59,700| 1316 Ii§ FUNTIHEHNELESRE |@EE 8m | K& REH
moiB2TH2%10 1:25 BRELE-T 1S i T%

(8)9- 1 Tk 2.8km | ( 60, 200)

NI I 171,000 184 F=E FRE—REE. 7/A—H [E 47m|/KE Al
EZHET5%6 1:25 EMNRETHIEDODE [ H=Z 152

(2) - 1 w2 Eithisl Tk 1.8km | ( 60, 200)
IF4 83,400 100 F=E INRE—REELNEDIL (4t 4.2m|/kE A
RKFILHFHEAI2053%2 2:1 Sk Ethig iE AR 1EE

(8) - 2 W2 Tk 2.6km | ( 60, 200)
ML 173,000 115 F=E —BIEEDENT/NA—F |[@EFE  55m|KE A%

IMUKET2 T BH38%1 1.2:1 ENRONSEEHIE i HR HERE

(8) - 3 W2 Tk 1.6km | ( 60, 200)
ML 187,000 101 F=E INRE—REEXRE |B 4m [7KE N
=xHE36%14 1:1.2 ENBETIEEME  [da HR 1R

(8) - 4 W2 TK 700m | ( 60, 200)
IF4 105,000 100 [EE2 INRE—REEZSRLE |4 4.2m|/kE GRS
KFAREBFHE3I60F10 1.5:1 T HiEEHIE B 5 1EE

(B) -5 W2 Tk 1.2km | ( 50, 80)
JI# 161,000 177 F=E FEE.TNA—FENZVEX |EH 6m |/KE i

* BHE2TH19%214 1:1 EERELI-EEHIE i HR 1HhE

(B) -6 W2 Tk 900m | ( 60, 200)
NI 241,000 166 FE FUNMEBEENRBLES /@ 5.8m |k EIIES
BE/MUKET2 T B 16%&9 11 BRIk EHhig E HR 1R

(8) -7 LS2 Tk 800m | ( 60, 200)
JIl#ET 154,000 135 = —fRiEE. T aVEN [IE 4m [k3E Jl#s
BET1THSE17 115 BETIEHRREEME  |fE HR 1B

(8) - 8 W2 Tk 1.2km | ( 60, 200)
I 111,000 170 = PIEE—REENZVE [LE 6m | K& Brs
HHEFET2TH15%4 1:1.5 ERRELI-EEHE it 5 2{EE

(B) -9 W2 Tk 1.6km | ( 60, 200)
JI#TH 148,000 127 FE FMEEO—RBREEDND |dE 6m [7ki& +1Em
HHEHAT19%E 28 1.2:1 [ AN TR B 1E Eithis HE HRA 1hE

(&) -10 W2 Tk 1.3km | ( 60, 200)
I 107,000 100 = —fREEIELHL SHIC |1 4.2m k@ )11
RFNFBFHERES514%F10 2:1 EXMEDORETHIEE |tha AR 2k

(8) - 11 w2 g Tk 260m | ( 60, 200)
JIl#ET 121,000 110 = INERBELG—REENZL (R 5m | K& R
AFERAFRFRMEM85%E17 12 e B HR 1EE

(&) -12 W2 Tk 1km | ( 50, 100)
JIl#ET 206,000] 208 [EE3 FUNMRE—REE. B @ 5.9m [7k3& Jl#s
HTE3TH12%5 1:2 FEEZOHRICEMMNRS | HR 1hE

() -13 w2 hAEEME Tk 1.2km | ( 60, 200)
I 75,000] 129 = —WREEIELLESRE [FE  42m|KkE [EPSE
KFSEFHILT730%118 1:1 BRI EERE i AR 1EE

(&) - 14 W2 Tk 2km | ( 50, 80)
JI#TH 146,000 138 FE —BEEETNN—MENE [ E 6m [7ki& Nl
L¥ET15%265) 1:1.2 LME HiE HR 1hE

(&) -15 W3 Tk 1.8km | ( 60, 200)
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JI#H 144,000 161 F=E FRE-REENEEL [FEx 4m |7k&E GRS
A#3TH6E12 1:1 AEEGE T HiE HR 20hE #[f
(8) - 16 W2 Tk 400m | ( 60, 200)
ML 75.900] 195 F=E FRE-REENELL [JE 4m |7KE 1
AFEBFKABRESE197 1:1 SAREEALLEEHE|FE HR 1EE
(8) - 17 LS2 Tk 1.3km | ( 50, 100)
ML 113,000 100 F=E —BIEEDEMNCEME [/ 5m |7K& EEES
KFSRFHE86%F29 1:15 NRoNBEEHIE i 1hE
(8) - 18 W2 Tk 900m | ( 60, 200)
ML 124,000 200 F=E FEE.7/A—rOHIZEH |F 4m [7k5E FED e
AFHMEFHER2401F4 1:15 NRoNSEEHIE B HR 1EE
(8) - 19 W2 Tk 850m | ( 50, 100)
ML 270,000 187 F=E FRE-REENELL [ 4m [7k5E N
* kT2 TH17%22 1:15 SMEEHIE & HR 2hE
(8) - 20 W2 Tk 500m | ( 60, 200)
IF4 140,000 198 [EE2 —BEEEIELILSX (7 4.6m[/kE E7HE
EEEATHAE20 1:1 EERELI-EEHIE i HA 1EE
(8) - 21 LS2 Tk 550m | ( 60, 100)
IF4 95,100| 167 F=E —REECHESHIRL [dE 4m |7KE N
AxTE1 TE23%15 1.2:1 NEBEMEBREROEE @R Hz #T
(8) - 22 w2 Hhig Tk 1.8km | ( 60, 200)
MEEA 27,200 1,110 FE BEREEDEN—FREE (& 6m [7kE EEEN IEEY
AFEAFHE2058F 14 1:2 LRONDEEHE T
(8) -23 Wi EEMRPET 3.5km | ( 60, 200)
ML 35,600] 1,135 F=E EREEINELIESH|ER 6m [/K3& EIEEA LS
ZHAITH15F 15 1.5:1 SO EEHIE i HR
(&) - 24 W2 JeE fAE 1.4km | ( 60, 200)
ML 52,700] 205 F=E ABIZEMELZ{R LN (& 5.7m |/KE EESZN IET-Y
ARFREFRIM175%8 1:1 HBNO—EEMIE | H=Z
(B) -25 W2 2km | ( 60, 200)
ML 157,000 92 EWFEE |BRRNEESH,ELTE |F 14m [7K3& E7HE
EvBI3TRE2%4 12 |E SRR R S Hh g T H=R ERE
(8)5- 1 W2 Tk 900m | ( 80, 200)
ML 877,000] 189 [ESFRE |PEEOESH. BHME  |dE ReLE|KE N
HEAET6%E9 211 | ILAEFELERBIDEEM | = FEE X301
(8)5- 2 srcsF1B|E R fE [Tk HanssiEE| (80, 600)
N 257,000] 355|& |BHM |EH. SHMENEET SR om [7k3&E ESIIEE
WIE2TH1%ES 1:25 BRAR T Hhig 1258 H=R FEE 3971
(8)5- 3 RC2 Tk 850m | ( 80, 400)
JI#H 367,000 105 58 EHDIENTLAVER |FE 5.8m |7KiE Al
* =1 TH11ES 1:2.5 Y (LINETTOYSE S b i H = E
(8)5- 4 RC3 Tk 260m | (80, 400)
I 273,000] 160 DERE |[D-EBOEH. ZHMF 1 11m [k5& Jl#s
REA6E15 1:15 [EE MNEL I SRREEE |faE HR B R
(B)5- 5 RC3 Tk 550m | (80, 200)
JIl#ET 138,000] 1,026 & EH.EEMEORETS|EE  18m [KE Jl#s
BT 7 & 2454 1:1.2 B AR A SR S et Ei& #EE
(B)5- 6 S2 Tk 1.4km | ( 60, 200)
JI#H 266,000 482 5 JE. EBMENRONS [AFE RES|KE i
RFERFRIFI17E 15:1 HNEIESES U iE HA R HERS
(8)5- 7 S2 M fAhE | TK RenEEEl (80, 200)
N 387,000 245 BE. ARE [KEES. PEERTR [ 20m | /K& ESIIT
HEAT1 T H6%A4s 115 [F*E2 (REEssLEERE (s 52 o
(8)5- 8 RC6 Tk 360m | ( 80, 400)
JI#TH 53,600| 3,293|&f# |Ti5 FRB|EOIHEENES |dE 7m |7k K15
AFHEFEO1445% 1:1.5 it SREER T S this i HA I&
(8)9- 1 Tk 650m | (60, 200)
A AT 50,800 175 s —REESEBELESEE [/ 5m /K& EA
KE4TH1494%3 1.2:1 EEMBEROEEME  |HE H = 1hE
(8) - 1|[TKFE4—-9—-15] W2 2.8km | (60, 200)
A 37,000] 400 FERSE |PHEE—REE.EHM [E  79m|kE EA
HIEHFAFHFE1293%F7 1.1 |FAET AEESIELESNEE (B 1B
(8) -2 LS2 BODEESE 4.5km | (60, 200)
A 61,900 171 FE —REEFOHICEMN |FH 4.6m |7k gER
HBAHF%R667%3 1:1.2 RohdEEis i HA 1hE
(8) -3 W2 Tk 1.4km | ( 60, 200)
A 56,200 188 FE INRE—REEISELY & 4.2m |7k gER
FEFHERE241%5 1.2 ARBEROEEME  |fE HR 1R
(8) - 4 W2 Tk 1.2km | ( 60, 200)
Eam 59,300 109 FE INRE—REESELY |& 4m |KE gER
RFF2TE117% 1.2:1 ARBEBAREL-EEME|FE HZ iR
(B) -5 LS3 Tk 1.2km | ( 60, 200)
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At 57,200] 180 [EE2 FNEBEO—REENE |F 5m |7k & R
M%2TE1651%6 141 il S\EE S HiE HA 2h&
(8) - 6[TM}2—12—85) W2 TK 3.1km | ( 60, 200)
At 54,100] 164 F=E —REEDENMIHEE |1t 4m [7KE A
2 EETE2119% 745 115 LRETHFIEMRICE |HE 5z 18R
(B) - 7 LS2 BIELMEESE 1.8km | ( 60, 200)
AT 10,400 597 F=E BREFE. —BREENE (/@ 41m|/KE S TSR |
LIRFHIE613F1 1:2 T HEEE T
(B) - 8 W2 8.5km | ( 60, 200)
AT 95800 218 F=E —BREEDOPIZTA—FE = 6m |7k A
ARET2 TR 142% 1:15 NRONBFIFEHEORL |mhiE HR 1ERE
(2) -9 w2 EEE Tk 650m | ( 60, 200)
AT 14,500 691 F=E BREEZPDLIC—RE [fEE 6m |k R TSR ]
INSGFRA@A9FE 1:1 EFLRONDEDICE
(8) - 10 wi DZMEE 3.9km | ( 60, 200)
AT 74,000 160 F=E —REENZVFICT S 45m |/KE A
FHE1TH631%9 1.2:1 N—rENRONDEEH [FiE = 152
(&) - 11|IFHE1—7—311 W2 2] TK 1.6km | ( 60, 200)
AT 63,100] 166 F=E FRE—-REENZVE [F 4m [7k5E A
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| 9-2| 55,900 (h—H ANy 7 Ea AT ¢ 7 A Z—) BliR 54, 000 5-5| 795,000
H & 3.5 KRFEBIRT M /3 3 8% 24 MLHE T C 2.4 ) ST E RN 6.3
9-1| 53,100 (b () A&t 2 —) 700m 51, 300 5-6| 1,180,000
JIE 3.3 fE1THLI20%3% (HE1—-9—-40] JITE 5.1 3 JITE 5.2
- 37| 403,000 570m 390, 000 - 34| 402,000
JITE 3.3 AHEATH2600%F14 [A#EH4—4—14] sz 2.7 A JIA 5.1
; 9-1| 155,000 (WF Y Rz Pr (KR ) 770m 150, 000 - 37| 390, 000
FEHE 3.3 FSEET 9 & 1 44} I\ 3.4 - SV FERE 3.7
9-1[ 62,000 ( (k) Rpk126) 1. 1km 60, 000 5-3| 2,520,000
=R 3.3 R3THTHE24 = e 1.7 YAV 3.5
9-2| 127,000 C (B o 8RR 700m 123, 000 6 5-3| 620,000
. 1T H 3.2 FERIFET 1T TH1 8% 1 AT H 0.0 SWERE 3.5
9-1| 32,000 CanrE¥ () ) 2km 31, 000 5-1| 2,090,000
H 3.1 RFFHETVHFH 16 00%K6 A 0.0 I H 3.4
g 9-1| 19,700 JBAbsT 7 2 7 2 (R) ) 6. 3km 19, 100 9-1| 60,000
Yl 3.1 WO SWHEATART TH3E2 ] 2.0 = 3.4
9-2| 53,600 FARFET (%) ) 3. 6km 52, 000 g 9-2| 54,000
" N 3.0 HMITH4654%F 74 [HMW1—-6—-34) LN NE ] 2.0 Jira 3.4
9-1| 103,000 (FEAA bR (BR) BN 2 1T.55) 3km 100, 000 - 40| 362,000
Jila 3.4
-8| 213,000
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13—1 @EARMAETEEIEMLT (RIE - FEih)
HIAE FE AN 37
W | wwmms | ZPE ) Lo L ST AR EB (o) Wgr | memEs | 2D O6)
- fifiA& (4, nf) ME | £ R %%(m/n{) - filitg (F3,/ i)
) TREL A 3.8 JERTHIEL 720/ 1 (EmETH4 84X 7) b=l o) A 3.3 ] E & A 3.5
- 10 28, 000 6. 5km 29, 100 -3 41, 000
) B A 29 AIARE3TE19%S3 1 PN A A 3.5 pUEE=cA A 3.3
-3 39, 800 430m 41, 000 ) - 10 29, 100
Ei A 27 KFEHFFHTIO0F2 9 |- A 2.7 R A 3.3
3 -4 14, 200 2. 1km 14, 600 -3 11, 900
Ei A 27 KFEHT/NGEG 8 7% 14 & H A 26 A LEhb A 3.1
-2 11, 000 800m 11, 300 -3 18, 900
. nZE A 2.6 I3 TH3%6 Fia A 2.4 - g A 29
-3 51, 500 900m 52, 900 -4 10, 000
6 HFRAC A 25 KFLFFAIE5 7% 1 /N TET A 3.3 PR A 2.7
-3 11, 600 4. 8km 11, 900 6 -5 108, 000
; 1T H A 23 HELHIT2 THSEL 1 HATH A 2.2 Eilg A 2.7
-3 34, 200 430m 35, 000 -4 14, 600
8 R L A 2.2 BILET1 9% 3 0 AL A 1.9 XA A 26
-6 45, 500 3. 5km 46, 500 . - 13 37, 000
9 oy A 20 KFEZRFYIE1589%F Bl A 29 Ei A 2.6
-4 9, 800 4. 5km 10, 000 -2 11, 300
Y A 1.9 KERFTEER 29 0%F 14 g A 1.9 10 JnZe A 2.4
-1 15, 100 1. 8km 15, 400 -3 52, 900
FHE A 1.9 KEATLTE, HF2322%3 A+ A 19
-4 15, 200 800m 15, 500
1TH A 1.9 KEFEHT—/A70%1 HWATH A 1.0
-2 10, 200 4. 8km 10, 400
Eis A 19 KEEBTENS 6 9K 7 Eif A 1.4
0 -1 20, 400 550m 20, 800
ER A 1.9 KFEARE LA R9I 8 1% 2 [ A 1.9
-3 20, 400 230m 20, 800
HFRAC A 1.9 KFEWRATIEEF1476%1 /N TET A 1.9
-2 5, 100 11km 5, 200
HE A 19 KPR TR 4 5 2% 2 P A 19
-1 15, 300 1. 2km 15, 600
REA A 1.9 BEHHTHR1 29 3%F7 RER A 1.0
-2 37, 000 4. 5km 37, 700
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13—2 f{ARMRZEERIEMR (RIE - EEM)
_ AITAE BENAAL 2%
| s R Tl T T g CaeR (0 %fﬁ%é% | I | o

. 1TH A24 |EM1TH3674%2 MEM1—-6-—14] T - 1. 5km A 0.9 X JEL L A 2.8
5-2] 40,800 (7 MU =— ViR ) (200) 41, 800 5-1] 49,100
0 (% A 1.9 [PEHIT4818F1 [HhEHlTs—7) A2« 1. 1km A 1.4 ) H & A 2.6
5-3| 60,600 (T A AT RRRAH = H)E) (200) 61, 800 5-1| 74,500
; i A 1.8 | KRFEEHFLNKL 86 0F24 ESBF « 1. 1km A 1.8 ; B A 2.3
5-1] 33,000 (HFEZ—nAVHR— K~ (BR) ) (200) 33, 600 5-1| 500,000
A /N A 1.7 [/NEEFTERGH AT 232 FRAZ + 14km A 1.7 A G A 20
5-1] 29,300 ( (BR) RE&WIL) (300) 29, 800 5-2| 246,000
- JINZE A 1.5 |KMHET536%FK34 [KMHET6—2 4] JINZH + 900m A 1.5 Rl A 1.9
5-1] 45,600 (87 v A VT U INZEK PR E) (200) 46, 300 5-1] 30,400
FRAZ A 1.3 |RERET760%6 [REARHT20—1 7] A - 350m A 1.7 . ZNER A 1.9
5-1] 66,700 (200) 67, 600 5-1] 102,000
Rl A 1.3 | KRFERBTHA806FA4 Rl - rHe A 1.9 NG A 1.9
6 5-1] 30,000 (7 FNTANXT Z) 30, 400 5-1| 155,000
[ A 13 |[THEE1ITE1I0HL 14+ AT A - 200m A 0.4 AN A 1.8
5-5[ 228,000 (CEen) (400) 231, 000 o 5-3[ 161,000
I\ A 1.3 [FR1ITH15%4 J\i - 1. 9km A 1.9 i A 1.8
5-1| 163,000 [ (&) A< (200) 155, 000 5-1] 33,600
N A 1.2 |THEFT2582F24 HAEFEM14—1 8] T2k - 400m A 1.8 FRAZ A 17
5-3[ 159,000 (B vz 5 9 (200) 161, 000 0 5-1| 67,600
0 (% A 1.2 [EMFT6F1I1 EMAETLI4—15] FRAZ + 130m A 1.2 /NEEET A 1.7
5-2 81,000 ( () 775 (400) 82, 000 5-1 29,800

S A 1.2 |[ffET197%6 [fpET 10— 3] ARAE + 80m A 20

5-2| 243,000 |C@lEL) (400) 246, 000
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&7 e P T b 2 ik (it ZERR<)

#h = Hb = Hb = Hb ST A 7

| mwms |Tezns| L | muems (Fezex| T | woms |TozBE| T | Tk |THZBE

(A m) (%) (A m) (%) (A m) (%) (A m) (%)
X ETHT 4
FEX 9 108,900 00| 2 168,000 0.0 11 119,600 0.0
X 10 181,400 02| 3 231,300 0.1 13 192,900 0.2
KR 9 259,800 04| 6 1,373,200 0.0 15 705,100 0.2
B3R 13 130,700 AO05 1 296,000 0.0 14 142,500 A 05
th th [ 7 256,400 00| 5 401,000 A 0.1 12 316,700 A 0.1
X 7 145,600 AO04 1 191,000 05 8 151,300 AO03
SEHX 9 328,800 0.1 6 745,700 AO05 15 495,500 A 0.1
HX 11 242,500 A 0.1 3 457,000 0.0 14 288,400 A 0.1
SR 15 165,500 A03| 1 239,000 0.0 16 170,100 AO03
EHX 8 92,500 02| 2 128,500 00| 1 59,700 26 11 96,000 0.4
x\M-EH 5H| 98 188,700 Ao0i1| 29 617,600 A 0.1 2 125,400 16 129 284,200 0
M 25 130,700 0.1 8 340,300 00| 1 53,600 21| 34 177,700 0.1
AT 21 45,400 A03| 7 98,600 00| 2 23,100 22| 30 56,300 A 0.1
M=t 41 220,300 12| 5 637,200 03| 1 155,000 33| 47 263,300 1.1
FE® 10 29,400 A4l 2 60,700 A3l 1 32,000 32| 13 34,400 A10
AT 13 27,300 A09| 3 69,400 Ai15 1 13,900 00| 17 33,900 A 09
SR 25 164,700 05 6 383,800 A03 31 207,100 0.4
BRBET 13 53,900 A 0.1 2 185,000 A10 15 71,400 AO02
s 13 32,200 A08| 2 60,100 A1 3 39,400 16| 18 36,500 A 04
AFEH 12 35,100 A 0.1 4 63,200 A07| 1 19,300 05 17 40,800 AO02
AT 9 61,600 04| 2 115,300 03| 1 42,800 19 12 69,000 05
P 17 80,100 A06l 4 172,500 A09| 1 62,000 33| 22 96,100 AO04
N 11 114,100 A08| 1 239,000 0.0 12 124,500 AO7
T 7 30,400 A08| 1 38,200 A08| 1 28,800 1.1 9 31,100 A 06
JB B H 13 62,100 A0S 2 115,500 AO05 1 34,100 12| 16 67,000 AO07
EAT 19 35,200 A03| 4 71,200 A03 1 20,900 05 24 40,600 AO03
rEH 19 108,900 00| 3 331,000 A06l 1 45,400 20| 23 135,100 0.0
=i 18 140,500 03| 4 208,300 A02 1 103,000 30| 23 150,600 0.4




R Al FEH [EES: T £ A& (Mt ZRRO

ih = H = H = H =z

| mwms |ezns| L | mems (Fezex| T | wofs |TozBE| T | Tofn |FOzBE

(B m) (%) (A m) (%) (B m) (%) (A m) (%)
X ETH £
AT 24 132,500 A0l 7 276,700 A 06 31 165,100 AO02
T 3 252,000 170 1 582,000 0.0 4 334,500 13
EE 8 263,400 7] 3 348,700 10 2 159,500 10[ 13 267,100 14
AR 13 102,100 A02) 1 209,000 AO05 1 82,000 25 15 107,900 0.0
s 8 222,000 09| 1 553,000 00| 1 115,000 09| 10 244,400 038
KT 6 209,000 05 1 255,000 0.0 7 215,600 0.4
O 5 228,600 15[ 1 374,000 05 6 252,800 14
R 11 187,900 06| 1 670,000 0.0 12 228,100 05
&) 6 85,300 A02) 1 159,000 A06| 1 48,000 21| 8 89,900 0.0
AET 15 58,700 A03] 2 90,100 A07| 1 53,200 15 18 61,900 AO02
A 6 80,000 A03[ 1 109,000 A09 1 49,700 16| 8 79,800 A1
J\BH 8 112,400 A0l 2 205,000 A07| 2 109,500 29| 12 127,300 0.3
=4 B 10 194,200 04 3 449,000 0.0 13 253,000 03
B 14 114,100 A07| 4 161,800 A07| 2 112,500 17 20 123,500 A 05
EmH 5 91,200 A1 1 173,000 0.0 6 104,800 A1
REH 7 67,300 AO1 1 180,000 00| 2 53,800 28| 10 75,900 05
E=E 4 44,700 A04l 1 67,900 A06| 1 47,900 15 6 49,100 A1
By BT 5 84,300 00| 1 181,000 00| 1 68,300 27| 7 95,800 0.4
A& 5 51,100 A04[ 1 73,800 A09 1 53,100 35 7 54,600 0.1
=11/ 5 99,000 A03[ 1 204,000 AO05 2 61,500 00 8 102,800 AO02
A CAHBTH 6 179,200 03 1 256,000 0.0 7 190,100 03
B 3 86,700 A03[ 1 142,000 00| 1 53,700 15| 5 91,200 0.1
et (RS 463 113,500 00| 97 239,900 A03] 36 65,000 18| 596 131,100 0.1
(SRS 561 126,600 00| 126 326,800 A03] 38 68,200 18 725 158,400 0.0
(BESHT 4 83,800 0.2 1 51,700 10] 5 77,400 03
=3 3 148,300 0.0 3 148,300 0.0
= B | LET 4 37,700 A4l 1 62,500 AO03 5 42,600 A2
A BT 4 30,000 A 04 4 30,000 A 04
5811 ET 5 50,400 04 5 50,400 04
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PR R FEH [HE3:u T ER® (M ERR<Q

] %=l %=l %=| %

| s | TeEEgEl | Tl |FoEsik| o | THfi |TozEgs | THfis | Texes

(M. m) (%) (M. m) (%) (M. m) (%) (M. m) (%)
T RHATF
& LLIET 3 38,100 0.0 1 49,500 0.8 4 41,000 0.2
JNJIET 5 26,700 A 038 1 43,900 A 09 6 29,600 AO08
JI| ERT 2 27,800 A 06 2 49,300 26 4 38,500 1.0
= BET 4 22,500 A 03 4 22,500 A 03
JELLIET 3 29,100 A13 3 29,100 A13
LEHHET 3 16,200 A 13 3 16,200 A 13
T HEAT 4 32,600 A 06 4 32,600 A 06
EEBTHT 4 20,100 A 17 1 33,000 A 138 5 22,700 A 17
RESET 4 16,500 A23 1 30,000 A13 5 19,200 A 21
J)\FEE BFHT 5 14,200 A 13 1 29,300 A 17 6 16,700 A 13
HRAR KT 3 8,600 A 138 3 8,600 A 138
EBMAT 4 14,200 0.0 4 14,200 0.0
28 ) 1| BT 6 12,200 A 05 1 11,200 A 09 7 12,100 A 06
FEmrT 4 27,800 A 02 1 39,800 A 05 1 19,700 3.1 6 28,400 0.3
HERT 4 20,000 A6 1 42,400 0.0 5 24,500 A13
= ET 5 51,600 A 02 5 51,600 A02
VAL 3 62,700 A 04 1 717,000 A 03 1 53,400 1.9 5 63,700 0.1
FNRHET 3 50,000 A 09 3 50,000 A 09

Br4t5t 89 35,100 A 07 10 41,900 A 07 5 44,700 22| 104 36,200 A 06
& &t 650 114,100 AO01| 136 305,900 A 03 43 65,400 1.9| 829 143,000 0.0
iR ik
Ho g it pEIES

HRETH 4 # | (A/107-1) (%)
BRAEE 1 118,000 A 038
IN1 BT 1 326,000 A 09
E3::1 1 287,000 A10




17 gl - A FHMEERUFHESHR—F
EE] B2 B TE® ZRE HERC
5| wome | TIE| R | wemns || X | weme |TIE| 5 | wews |TOE

o % | (A7 m) (%) % | (A7 m) (%) % | (A7 m) (%) % | (A7 m) (%)
SLM=E 98 188,700 | A 0.1 29 617,600 | A 0.1 2 125,400 1.6] 129 284,200 0.0
ek 92 245,200 1.5 522,600 0.4 3 104,800 14 64 288,300 1.3
[alick:i 49 195,600 0.6 365,300 0.1 1 16,400 0.1 58 218,900 0.5
HRER 89 104,100 | A 0.3 22 175500 | A 05 8 64,100 16| 119 116,500 | A 0.2
Bx 48 84000 | AO02 7 142,900 | A 05 5 45,800 1.6 60 89,800 | A 0.1
NIt 4 82 45100 A 05 15 69,500 | A 00 7 19,100 09 104 51,900 | A 03
fich:i 67 97200 | A 02 11 218,100 | A 05 2 27,000 1.2 80 113,100 | A 0.1
FAR 65 54200 | A 05 11 78800 | A 05 9 34,300 14 85 58300| AO03
JeEB 70 27,100 | A 04 18 46,600 | A 0.3 5 11,900 0.9 93 31,000 | A03
B 30 22,100 | A 1.4 6 32300 A 13 1 2,800 0.0 37 25000 A 13

a 650 114,100 | A 0.1 136 305900 | A 0.3 43 65,400 1.9] 829 143,000 0.0
E=FE EWNFETH
it MO it F B
[tk HEm., ST, k. HFEFH. ELRE. SCHFH. =50
% B 857, BT A /AT, =7 I BT
LES BEM, LEW. B)IH. bR, FRET
JI# tb Ngghs, AT, RET . BBy B, BE AT, BART, FB)IET, G IUET, NI, )ISET, 5 R, ABILET, EEAHRT, B R4t
ik PR BRAET . BRUT . AR, BEH
Ui T A P, AR W EF . AT, B LR
El4 REATH., AEM. RAT, SSEAT, #4118, £ BRT, FEH
BR BRAT, MR, EEETHET, RIFRAT, JNEEETET
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